



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{2}{3} + \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{2}{5} - \left(\frac{3}{4}\right)^2\right) =$$

$$\left(\left(\frac{3}{2}\right)^2 + \frac{1}{6}\right) \times \frac{1}{3} + \left(\frac{1}{2} + \frac{1}{6}\right)^2 =$$

$$\left(5 - \frac{1}{3}\right)^2 - \frac{1}{2} + \frac{1}{5} + 3^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{6}\right) \times \frac{1}{2} + \left(\frac{3}{4} + \frac{1}{4}\right)^2 =$$

$$\left(4 - \frac{2}{3}\right)^2 - \frac{2}{3} - \frac{3}{2} + 4^2 =$$

$$\left(2 - \frac{1}{2}\right)^2 + \frac{1}{3} \times \frac{2}{3} + 4^2 =$$

$$\left(\frac{2}{3} - \frac{1}{2}\right)^2 - \frac{1}{3}\left(\frac{1}{2} + \frac{3}{4}\right) =$$

$$\left(\left(\frac{3}{5}\right)^2 - \frac{3}{2}\right) \times \frac{1}{5} - \left(\frac{1}{3} - \frac{1}{3}\right)^2 =$$

$$\left(5 - \frac{3}{2}\right)^2 + \frac{3}{2} - \frac{1}{6} + 3^2 =$$

$$\left(\frac{1}{6} + \frac{2}{5}\right)^2 + \frac{1}{5}\left(\frac{1}{4} + \frac{3}{2}\right) =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{2}{3} + \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{2}{5} - \left(\frac{3}{4}\right)^2\right) = \frac{1843}{1440} = 1\frac{403}{1440}$$

$$\left(\left(\frac{3}{2}\right)^2 + \frac{1}{6}\right) \times \frac{1}{3} + \left(\frac{1}{2} + \frac{1}{6}\right)^2 = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(5 - \frac{1}{3}\right)^2 - \frac{1}{2} + \frac{1}{5} + 3^2 = \frac{2743}{90} = 30\frac{43}{90}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{6}\right) \times \frac{1}{2} + \left(\frac{3}{4} + \frac{1}{4}\right)^2 = \frac{25}{24} = 1\frac{1}{24}$$

$$\left(4 - \frac{2}{3}\right)^2 - \frac{2}{3} - \frac{3}{2} + 4^2 = \frac{449}{18} = 24\frac{17}{18}$$

$$\left(2 - \frac{1}{2}\right)^2 + \frac{1}{3} \times \frac{2}{3} + 4^2 = \frac{665}{36} = 18\frac{17}{36}$$

$$\left(\frac{2}{3} - \frac{1}{2}\right)^2 - \frac{1}{3}\left(\frac{1}{2} + \frac{3}{4}\right) = \left(-\frac{7}{18}\right)$$

$$\left(\left(\frac{3}{5}\right)^2 - \frac{3}{2}\right) \times \frac{1}{5} - \left(\frac{1}{3} - \frac{1}{3}\right)^2 = \left(-\frac{57}{250}\right)$$

$$\left(5 - \frac{3}{2}\right)^2 + \frac{3}{2} - \frac{1}{6} + 3^2 = \frac{271}{12} = 22\frac{7}{12}$$

$$\left(\frac{1}{6} + \frac{2}{5}\right)^2 + \frac{1}{5}\left(\frac{1}{4} + \frac{3}{2}\right) = \frac{151}{225}$$